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Compare mass

Circle the heaviest items in each row.
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Compare mass ) A

1 Circle the lightest items in each row.
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Compare mass w & 7

1 Circle the heaviest items in each row then complete the sentences.
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I know this because the weighs cubes more than the

I know this because the weighs cube more than the
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I know this because the weighs cubes more than the
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Compare mass w & 7

Circle the lightest items in each row then complete the sentences.
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I know this because the weigh cube fewer than the
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I know this because the weighs __ cubes fewer than the
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I know this because the weighs cube fewer than the

I know this because the weigh cubes fewer than the
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Compare mass w & W

1 Circle the heaviest items in each row. Explain how you know.

I know this because
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Compare mass w & W

Circle the lightest items in each row then complete the sentences.

(R

I know this because

UN

I know this because
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Answers

To avoid wasting paper & ink,
please do not print this page.
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Compare mass

1

Circle the heaviest items in each row.

) R
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Compare mass

1

Circle the lightest items in each row.

a
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Compare mass w & 7

1 Circle the heaviest items in each row then complete the sentences.

I know this because the  doughnut weighs 2 cubes more than the cooRie

I know this because the __sharpener weighs __ 1 cube more than the __paper clips

I know this because the __ scissors weighs 3 cubes more than the rubber
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Compare mass w & 7

Circle the lightest items in each row then complete the sentences.

(U

I know this because the _paper clips  weigh __ T cube fewer than the _strawberry
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rubber weighs 2 2 cubes fewer than the golf ball

e

I know this because the pencil weighs 1 cube fewer than the bow tie
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I know this because the dice weigh 2 cubes fewer than the scissors
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Compare mass w & W

1 Circle the heaviest items in each row. Explain how you know.
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I know this because the scissors weigh three cubes more than the rubber.
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Compare mass w & W

T Circle the lightest items in each row then complete the sentences.

i
L

I know this because _the rubber weighs two cubes fewer than the golf ball.

@) O F//t?
\}l \

|
I know this because the pencil weighs one cube fewer than the bow tie.

I know this because the dice weigh two cubes fewer than the scissors.
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